—RBFRXTINLR

1= AE - TAEKR
2 B 2 - BR K
3 BH KE - BH &5
4 $8F B -
5 KHEM &M - Mgk K&
6 SR AT - BH R
7R R - SH BEKER

8 B J& - T &

9 BRHH 3L - (R thiR
10 bye
11 3B & - T8 7
12 ek B - R4 5
13 FHHEEKX - £iF R
14 s A - R IRE
15 i EE - £ 88
16 850 IE48 - Bk &
17 LR 1B - TF &S
18 EEE - LA ME
19 &% [T - & B e
20 AR =48 - 0 A
21 bye

22 KM ER - SAE

NilsJunji Edstrom

(BEXRIE - BER)
(KBR7=2EH - ERAYE-SE5H)
(FBmENET=2077 - 7U—)

(Sud Sud Ouest - 71 —)

(COUNTERWORKS - DELL)

(BFBE=NET =205 7)
(XY F—1TS)

(XYF =TS+ >y RTC)

(ERO—-YT=ZR957 FzU—TZR977)
(7V— - KERTF=X&EH
(BSETZRIF7 « KFT=ZRV77)
(EDHTZRITT - Hho>ILHE)
(STT - TMS)

(BHE- 7U-)

(H$8 - Naturally Tennis)
(Pay*xT7—ET7=R077 - ERA-YTZRI57)
(EER=E% - v 7YY XTFLRX)

(RBAER - ¥ > ZR—Y)

(v FF=R)

=HEF

63,62

1R 2R 3R QF SF
=H,EE
67(4),64,10-4]
ERBR
60,62 ZHEE
62,46,10-7
AEK, Nk
62,64
=HEE
75,46,10-6
S BBH
60,61
A BBH
FRE, 75 61,63
61,62
BRH, 73R
W.0.
A, IRE
63,60
bk 3= 4
16,76(4),10-2 A RE
63,36,10-4
B0O,i&K
62,62
EEEE
64,63
TREE
61,62
TREE
AR LA 36,63,10-5
76(3),62
RH,5H
46,63,10-8

A



—fiRBFLTINZA a

23 A Ex - &HE A
24 F5& A - LA B
25 L B - W BER
26 =15 WA - BE
27 P B - FH B
28 MAIBA - EEE KRS
29 ®3#E LA - BIE B
30 A K55 - BT KE
31 g ExN - ER —E
32 bye

33 BN 2F - B HAE

34 T HhIE - TR ANE

35 £F 5o - IR i
36 BK RK - BEE R

37 il B - B A

38 Wi KEL - B K

39 MEE BB - 25 B

40 HFH BRKER - FHF SERER
MNAKE - AR =

42 MR B - RO X

43 bye

44 Zgih T - BT AKNF

(R ENET =27 T 7)
UNFEFT=ZZ2o 77+ MTC)

(E2hTFZR057)

(BOFWTF=Ry 77« BORLUT=XI57)

(TEAM WISE - 7Y —)

(NFSC - EEERIE)

(XUF—u)
(F—4ralosso + KEEtY FSLTFZRI5T)

(7U-)

(ERA—YT=R977)

(7 v 7 HBEETE)

(&N © R—FKP)

(T 2%2>TC - EsERAH)

(by 74 v RT7RTF—VHER)

(Club HIT)

(SSPT - FBXF = ZEH)

(AAEDTZR)

(HET = RBZE0)

(GODAD)

(hsET=2077 - 7U—)

2R 3R QF SF
Fre,ILE
62,64
¥4, ILH
64,64 ¥4, LM
46,64,10-5
=iE, B
62,76(5)
¥4, ILH
64,60
AR
36,62,10-7
3RO,
RO, 63,36,12-10
61,64
RO, 88
W.0.
i, e
75,46,10-8 B
g, T
67(4),63,10-8)
HEKBE
W.0. i, A
60,63
i, MiE
60,62
e, i
75,62
ik, =5
W.0.
%3, 54
0E RO 60,60
60,60
53, B34
62,64
L=#EE

34,7788, T

64,62

=HEE



